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E .
xercise 6.4
Question 5:
Find the square root of the following decimal numbers:
(i) 2.56 ——"T1) 7.29
(141) 51.84 (iv) 4225
(v) 31.36
£ Answer 3:
(1 2.56 1.6
1 2.5
Hence, the square root of 2.56 is 1.6. =% |
26 156
- 156
0
(i) 7.29 27
2 7.9
Hence, the square root of 7.29 is 2.7. -4
47 329
- 329
0
TLIESS - VEIR)
(W) 5184 7.2 K M
Hence, the square root of 51.84 is 7.2 1 3 ::’ 8
142 284
- 284
0
6.5
(iv) 42.25 O 42 .35
- 36
Hence, the square root of 42.25 is 6.5. 125 625
- 625
0
5.6
(v) 31.36 5 31.3
- 25
Hence, the square root of 31.36 is 5.6. 106 636
636



